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Subject: Mathematics

Fill in the blanks:-

1. H.C.F of 6 and 7 is _____________________.

2. Number name for 45,07,08,090   is______________________.

3. 1 [image: image2.png]


 +  0 =_____________.
4. If a number ends with 0,2,4,6 or 8 it is divisible by _____________________.

5. All even numbers are ___________ except 2.
6. L.C.M of 8  and 9 is ___________ .
7. Place value of 7 in 47,63,054 is ______________ .

8. 4  [image: image4.png]


_ 0=______.

9. Numeral for thirty billion,six million seventy thousand sixty one is ____________.
10.  A number is divisible by 3 if the _____________ of the digits is divisible by 3.
11.  H.C.F of 4 and 20 is _______________.
12.  Mixed numeral for  [image: image6.png]


  is _______________.
13. [image: image8.png]


Number name for 43,16,82,000 is _______________.

14.  A number is divisible by _____________ if it is divisible by both 3 and 2.

15.  Predecessor of  6,32,459 is  ______________.
16.  L.C.M of 4 and 28 is _________________.
17.  Fraction for 7 [image: image10.png]


 11 is ___________________.
18.  Numeral for sixty crore five lakh three hundred is ______________________.
19.  A number which has exactly two factors is called _____________________.
20.  [image: image12.png]14
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 is a __________________ fraction.(Proper/improper)
21.  A number is divisible by ___________ if it has 0 or 5 in ones place.
22.  Successor of 4,365,899 is ______________.
23. Ten lakh is equal to ___________ million.
24.  Standard form for [image: image14.png]15
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 is _______________.
25.  5634 x1000=_______________.
26.  A number is divisible by 10 if it has _________ in ones place.
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28.  Numbers which are not divisible by 2 are called___________ numbers.
29.  H.C.F  of 16 and 20 is ____________________.
30.  All  prime numbers are _______________ except 2.
31.  9999 +1 = _________________.
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  are ______________ fractions.
33. [image: image28.png]


If population of Mecca is 79,36,452 and that of Madina is  79,63,452. Then has _____________ more population.
34.  Write [image: image30.png]


  as division.
35.  Place value of 6 in 36,452,302 is______________.
36.  All prime numbers have exactly _____________ factors.
37.  L.C.M of 16 and 20 is _______________.
38.  1[image: image32.png]U] e
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 =_______.
39. _______________ is the common factor of co prime numbers.
40.  In an ___________ fraction the numerator is greater than the denominator.
41.  H.C.F of 1 and 7 is _____________________.
42. 48632167 can be written as ______________ in Indian system.
43. ___________ is neither prime nor composite.
44.  A  number before 36 167 326 is ___________.
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  are  ______________ fractions. 
46.  Is 87452  divisible by 10. Write Yes or No. _________.

47.  7365167003 can be written as _____________ in International system.
48.  3[image: image46.png]


  + 1 =_____________.

49.  Is 763256 divisible by 2 or not. Write Yes or No._________.

50. All even numbers are always divisible by _______________.

51.  Of the two numbers 65,38,763 and 56,38,763 the greater number is ________________.
52.  Is 4712005 divisible by 5. Write Yes or No.__________.

53.  To add or subtract the fractional numbers we must find the ____________________ of   denominators.

54.  Improper fraction 3 [image: image48.png]


 is _________________.

55.  A number is divisible by 9 if the sum of the digits is divisible by ________________.
56.  L.C.M of  1 and 100 is  ____________________.

57.  Smallest prime number is____________________.

58.   A number after 46,17,399 is __________________.

59.  In Hyper Panda market, Out of 47935 oranges 46935 were sold. Number of unsold oranges are _________________.

60. Lowest term for [image: image50.png]21
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  is _______________.
61.  Are all odd numbers divisible by 2 . Write Yes or No.

62. Numeral for 30,00,000 + 40,000+5,000+60 is ________________.

63.  839612 – 819612 is _______________.

64. 10000 + 9999 =_______________.

65.  10000 - 9999 =_______________.

66. 10000  x 9999 =_______________.

67. 10000 +99909 =_______________.

68.  The period for ones, tens and hundreds place is called ______________.
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70.  Is 816016 divisible by 8. Write Yes or No.__________.
71.  3 [image: image56.png]
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 =__________

72.  A fractions with numerator 1 is called ___________.

73.   [image: image60.png]
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  =________.

74.  Of the two numbers 94,56,832 and 95,56,832 the smaller number is ________________.

75. 43566428 is divisible by 4 or not. Write Yes or No. _________.

II. Answer the following:-

(1) Add the following:-
(a) 36825  + 417356 + 638042

(b) 456128 + 263271 + 412 +8

(c) 83156 + 216542
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(e) [image: image68.png]
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(f) 2+  [image: image72.png]
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(2) Multiply the following:-

(a) 6384 x 236
(b) 8163 x 496

(c) 2698 x 142

(3) Write expanded form of the following

(a)36,26,108

(b) 4,108,037

(c ) 52,60,06,200

(4) Write in ascending order

(a) 3681432, 3682432, 3381432

(b) 463816212, 464816212,  423816212,  12816212.
(5) Write the number name for the following

(a) 4,16,02,420

(b) 83,639,004,700

(c) 7,36,12,713

(d) 83,216,142,009

(e) 42,162,010

(f) 7,88,10,421

(6) Subtract the following:-

(a) 368216 from 4536181
(b) 839620 from 856381

(c) 217600 from 320000

(d) 432618 from 581629
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(f) [image: image80.png]


  -   [image: image82.png]



(g) 8 - [image: image84.png]
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(7) Put >,< or = in each      .

(a) 41,86,821          41,39,821

(b) 83,96,121          84,96,121

(c) 98,163,412           98,631,412
(d) 4126385             4126385

(8) Divide the following

(a) 772988 [image: image90.png]


 916

(b) 266644 [image: image92.png]


 412

(c) 152194 [image: image94.png]


 286

(9) Write in decending order.

(a) 31246812,  31247821,  31147281,  31741182

(b) 1412863,  1521863,  615863, 1901863

(c) 8100635, 8100326, 8100263, 8100156

(10) Check whether the following are divisible 11 or not
(a) 638172
(b) 816354

(c) 921637

(11) Check whether the following are divisible 6 or not

(a) 816235

(b) 41628

(c) 31462

(d) 36426

(12) Find the H.C.F of the following 

(a) 12,18,6

(b) 24,32,16

(c) 45,54

(d) 28,36,15

(e) 12,25,18

(13)  Check whether the following are divisible 8 or not

(a) 146328

(b) 816342

(c) 9163848

(d) 32164

14. Find the L.C.M of the following.

a. 36,48,24
b. 15,20,30
c. 60,75

d. 28,56,70

15. Reduce it to lowest term.
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16. Find the next three equivalent fractions of the following.

a. [image: image108.png]


      
 b. [image: image110.png]“Glw



 
c. [image: image112.png]
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III. ANSWER THE FOLLOWING
1. There are 973486 expatriates in Riyadh. 821634 expatriates in Dammam and 998748 expatriates in Jeddah. Find how many expatriates are there in these three cities.

2. There are 894365 expatriates in Alkhobar. And 793276 expatriates in Dammam. Which city has  more expatriates by how much.

3. There are 873256 Indians in Riyadh in 2010 and  in 2011 the Indians  increased to 974527. Find the increase of Indians in Riyadh.

4. The  sale of  mangoes in Hyper Panda was 835621 and in Carrefour the sale was 983265. Find which market had less sale and by how much.

5. 38612 mangoes were supplied in Nesto market 44312 mangoes in Lulu market and 31425 mangoes in Carrefour find how many mangoes were supplied in all.

6. In a box 612 mangoes were packed .Find how many boxes are required to pack 235008 mangoes.

7. In a box 856 mangoes are packed . Find how many mangoes are packed in 268 boxes.

8. In 267 boxes 122297 mangoes are packed. Find how many mangoes are packed in a box and how many are left over.

9. The differences of two numbers is 415326 . if the smaller number is 285315 .find the larger number.

10. Find the dividend if the divisor is 456 quotient is 265 and the remainder is 189.
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